
オームの法則練習問題

年 番 名前

① 10V ② E ③ 15V

I ３A ３A

５Ω ２Ω R

I ＝ E ＝ R ＝

④ ４V ⑤ E ⑥ 10V

I ２A ２A

４Ω １０Ω R

I ＝ E ＝ R ＝

⑦ E ⑧ E

I ２A I ３A

ｅ2 ｅ1 ６Ｖ ｅ

５Ω １０Ω ｒ １０Ω

I ＝ ｅ1 ＝ I ＝ ｅ ＝

ｅ2 ＝ E ＝ ｒ ＝ E ＝

⑨ E ⑩ E

２A ２A

１２Ｖ ８Ｖ ｅ2 ｅ1

ｒ1 ｒ2 ５Ω １０Ω
全抵抗 Ｒ 全抵抗 Ｒ

ｒ1 ＝ ｒ2 ＝ Ｒ ＝ E ＝

Ｒ ＝ E ＝ ｅ1 ＝ ｅ2 ＝

Ｖ
Ａ Ω

Ｅ
Ｉ Ｒ



年 番 名前

⑪ ３０Ｖ ⑫ １８Ｖ

ｅ1 ｉ1 Ｉ ｅ ３Ａ Ｉ

１０Ω ｒ1

ｅ2 ｉ2 ２Ａ

５Ω ｒ2

ｅ1 ＝ ｅ2 ＝ ｅ ＝ ｒ1 ＝

ｉ1 ＝ ｉ2 ＝ Ｉ ＝ ｒ2 ＝ Ｉ ＝

⑬ １２Ｖ ⑭ Ｅ

ｅ1 ｉ1 Ｉ ２A

４Ω ２０Ω（ｒ1）

ｅ2 ｉ2

１２Ω 全抵抗 Ｒ ３０Ω（ｒ2）

ｒ1 × ｒ2 ×
ｅ1 ＝ ｅ2 ＝ ｉ1 ＝ 　全抵抗 Ｒ ＝ ＝

ｒ1 ＋ ｒ2 ＋

ｉ2 ＝ Ｉ ＝ Ｒ ＝ ＝ ＝

Ｅ ＝
⑮ １２Ｖ

ｅ2 ２Ａ

４Ω ｅ1

ｅ3 ｉ ４Ω

４Ω 全抵抗 Ｒ

ｅ1 ＝ ｅ2 ＝ ｅ3 ＝

ｉ ＝ 全抵抗 Ｒ ＝


